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diff_evMon9 (nm) 1D pull distribution

X2/ ndf 188.3/ 74

— Mean —0.01059 + 0.183

WwE p0 0.1291 + 0.7145 F
14~ =

: Std Dev 1.585 +0.1294

20 - : Underflow 0

- 2= Overflow 0

r X2 / ndf 9.122/11

I '[ T 10 B [ | constant 8.116 +1.313
T R

I Mean  -0.02987 + 0.25475

8 __ \\ Sigma 1.812 +0.243

-20 6

L il 4

2
—1. L
—2E7 L
] SR R SR R R A S Al H e T R R i A S e i o ol | T e A AN iin Ll
............................................... ! -8 -6 ) -2 0 2 4 6 8
SIS LOLOLOLD

NN
SIS
HMNHOMD

el



(um)

diff_evMon9 RMS

14—

(wn) SNY

1.2

T'esve
0'¢sre
S'TSVE
V'ISve
€IS
514>
TSV
0'TSVE
2'0Sve
T0sve
0'0Sve
€Lvve
C'LyvE
TLvvE
0'LvvE
Tevve
0'Erve
v'evve
eerve
2erve
Tevve
0'¢crive
6'TrveE
8'Trve
L'TVvE
9'Trve
S'Trve
V' Ivve
ETrve
544
TTrve
0'Trve
8'0vve
L'0vve
9'0vve
S'ovve
v'orve
£orve
covve
Tovve
0'0vve
6'6EVE
8'6EVE
L'6EVE
9'6EVE
S'6EVE
'6EVE
€'6EVE
C'6EVE
T'6EVE
0'6EVE
6'8EVE
8'8EVE
L'8EVE
9'8EVE
S'8EVE
¥'8EVE
£'8EVE
2'8EVE
T'8EveE
0'8EVE
0°LEVE
L'9EVE
9'9EVE
S'9EVE
V'9EVE
E€'9ErE
C'9EVE
T9gve
0'9Eve
0'SEVE
EVEVE
CVEVE
Tveve
0'veEre



diff_evMon10 (nm)
- X2 I ndf

15—

C p0O

41.71/74
0.3814 + 0.5688

1D pull distribution

Mean  -0.002032 + 0.08612
i StdDev  0.7458 + 0.06089
181
B Underflow
16 — Overflow
L X2/ ndf 1.162/4
14
i Constant 19.55 + 3.04
12~ Mean  -0.06749 + 0.10643
L Sigma 0.8317 +0.1026
101 H
8 —
6 —
4
2 —
W WA Lty
ol LAl vl
-8 - -4 -2 0 2 4 6




(um)

diff evMon10 RMS

(wn) SNY

T'esve
0'¢sre
S'TSVE
V'ISve
€IS
514>
TSV
0'TSVE
2'0Sve
T0sve
0'0Sve
€Lvve
C'LyvE
TLvvE
0'LvvE
Tevve
0'Erve
v'evve
eerve
2erve
Tevve
0'¢crive
6'TrveE
8'Trve
L'TVvE
9'Trve
S'Trve
V' Ivve
ETrve
544
TTrve
0'Trve
8'0vve
L'0vve
9'0vve
S'ovve
v'orve
£orve
covve
Tovve
0'0vve
6'6EVE
8'6EVE
L'6EVE
9'6EVE
S'6EVE
'6EVE
€'6EVE
C'6EVE
T'6EVE
0'6EVE
6'8EVE
8'8EVE
L'8EVE
9'8EVE
S'8EVE
¥'8EVE
£'8EVE
2'8EVE
T'8EveE
0'8EVE
0°LEVE
L'9EVE
9'9EVE
S'9EVE
V'9EVE
E€'9ErE
C'9EVE
T9gve
0'9Eve
0'SEVE
EVEVE
CVEVE
Tveve
0'veEre



diff_evMon11 (nm)

15

10

-10

-15

- X2 I ndf 66.26 / 74 |
— pO -0.1111 + 0.5295
e [ ]

_'E_I'IIIIIIIIIIIIIIIIIIJIJIIIIIIIIIIIIIIIIIIIIIII”I_IIIIIIIII[I“_IIIIIIIIIIIIII_!

:IH-H[HH-'H-H I-Hll-H

=3
<
<
)
<
™

1D pull distribution

Mean  0.01869 + 0.1085
i Std Dev 0.9397 + 0.07673
181
r Underflow 0
16 Overflow 0
[ X2/ ndf 5.166/7
141
i Constant 18.65 + 3.11
12~ Mean 0.1583 + 0.1015
L Sigma  0.8019 + 0.0984
101 M
8_
6_
4
2_
0'||||||||| ol I
-8 -6 -4 -2 0 2 4 6 8




(um)

diff evMonl11l RMS

-I—IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

[o0]
™

o

(o]
™

o

<
®
o

T'esve
0'¢sre
S'TSVE
V'ISve
€IS
514>
TSV
0'TSVE
2'0Sve
T0sve
0'0Sve
€Lvve
C'LyvE
TLvvE
0'LvvE
Tevve
0'Erve
v'evve
eerve
2erve
Tevve
0'¢crive
6'TrveE
8'Trve
L'TVvE
9'Trve
S'Trve
V' Ivve
ETrve
544
TTrve
0'Trve
8'0vve
L'0vve
9'0vve
S'ovve
v'orve
£orve
covve
Tovve
0'0vve
6'6EVE
8'6EVE
L'6EVE
9'6EVE
S'6EVE
'6EVE
€'6EVE
C'6EVE
T'6EVE
0'6EVE
6'8EVE
8'8EVE
L'8EVE
9'8EVE
S'8EVE
¥'8EVE
£'8EVE
2'8EVE
T'8EveE
0'8EVE
0°LEVE
L'9EVE
9'9EVE
S'9EVE
V'9EVE
E€'9ErE
2'9EvE
T9gve
0'9Eve
0'SEVE
EVEVE
CVEVE
Tveve
0'veEre



corr_us_avg_evMonO (ppb) 1D pull distribution
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corr_us_avg_evMonl (ppb) 1D pull distribution
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corr_us_avg_evMon3 (ppb) 1D pull distribution
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corr_usr_evMon6 (ppb) 1D pull distribution
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